L/AL luminance contrast 0
sensitivity threshold Lg0.1cd/n?

Xy
A 0,390,41L10,4sA
30 equation

20

10

04 2
=5 =2

UEOQ70-3A 1




L/AL luminance contrast
sensitivity threshold

X y
A0,390,41L10,4s A
30 equation

20

10

Lg=led/n?

04 .
=5 =2

UEQ70-3A 2




L/AL luminance contrast
sensitivity threshold

X y
A0,390,41L10,4s A
30 equation

20

10

Lg=10cd/nf

04 .
=5 =2

UEQ70-3A 3




L/AL luminance contrast
sensitivity threshold

4071 X Y
A0,390,41L104sA
30+ equation

20--

10--

0 .
=5 =2

UEQ70-3A 4



L/AL luminance contrast
sensitivity threshold

X y
A0,390,41L10,4s A
30 equation

20

10

Lg=1000cd/n

04 .
=5 =2

UEQ70-3A 5




